IX

Premium Quality

RON

RC-1010

Air Compressor 10Liter

g

pr

— DT T (L~ t~ o <&

www.ronixtools.com



RONIX

Premium Quality

www.ronixtools.com

Number | Name Number | Name

1 bolt M6x35 46 Y50 pressure gauge
2 spring washer 6 47 power cord

3 air filter 48 one-way valve
4 sylinder head 49 Discharge pipe
5 O cycle 50 release pipe

6 valve plate subassembly 51 handle

7 valve slice §0.3 52 Rubber plug

8 valve gasket 50.8 53 bolt M8x25

9 locating pin ®3x6 54 nut 8

10 sylinder ®42 55 tank

11 bolt M6x20 56 nut 5

12 sylinder gasket 31 57 washer foot
13 piston ring ®48x2 58 bolt M6x16

14 oil scraper ring ©®48x3 59 drain cock 1/4 inch
15 piston ®48x35.5 60 twin adapter
16 circlip ©14 61 regulator valve
17 connecting rod 62 pump head

18 crankcase 63 Y40 pressure gauge
19 crank

20 rubber gasket

21 breath pipe

22 O cycle

23 crankcase cover

24 screw M5x14

25 oil leveler

26 piston pin ®12x34

27 nut M8

28 tooth washer 8

29 capacitance 25uf

30 sealing ring

31 bearing 6003-RS

32 rotor

33 stator subassembly

34 bearing 6202-RS

35 motor bracket

36 spring washer 5

37 bolt M5x75

38 fan

39 circlip ©14

40 Right-angle connecter Rp3/8

41 bolt M5x14

42 fan cover

43 coupler

44 pressure switch

45 safety valve

AIR TOOLS

RC-1010

Air Compressor 10Liter



